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‘Let X be the set of all citizens of India.
Elements x, y in X are said to be related
if the difference of their age is 5 years.
Which one of the following is correct ?
(a) The relation is an equivalence relation

on X.
(b)

The relation is symmetric but neither
reflexive nor transitive.
©

symmetric nor transitive.
None of the above

@

Consider the following relations from A
to B where A = {u, v, w, x, v, z} and
B ={p, q, 1, s}. -

Lo {(y,p), (), (W p) (x 9. 9, 2 9}
2. {(u, p), (v, @), (W, 1), (2, 8)}

3L {9, v, w9, (u,p) (v 9, (O}
4. {(wq),(vp)(Ws), 0,19, (%)
Which of the above relations are not
functions ?

{a) 1and 2
{b) 1 and 4
(¢} 2 and 3
(d) 3 and 4

If o and P are the roots of the equation
ax? + bx + ¢ = 0, where a # 0, then
(ac + b) (af + b) is equal to :

(a) ab

() be

{c) ca

(d)

Let S denote set of all integers. Define a
relation R on S as ‘aRb if ab > 0 where
a,be 8. Then R is :

(a) Reflexive but neither symmetric nor
transitive relation
(b)

Reflexive, symmetric but not
transitive relation

An equivalence relation

Symmetric but neither reflexive nor
transitive relation

(©)
(d)

The relation is reflexive but neither .

* b

5.
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The roots of the equation 2a°x* — 2abx + ¥ =0
when a <0 and b > 0 are :.

(a) Sometimes complex

(b) Always irrational

(c) Always complex

(d) Always real

«

What is the sum’ of the two numbers
(11110), and (1010), ?

(a) (101000),

(b) (110000),

() (100100),

“(d) (101100),

Let N denote the set of all non-negative

. integers and Z denote the set of all integers.

The function f : Z - N given by
fix)=1xlis:

(a) One-one but not onto

(b) Onto but not one-one

(c) Both one-one and onto

{d) Neither one-one nor onto

If P and Q are two complex numbers,
then the modulus of the quotient of P and

Qis:

(a) Greater than the quotient of their
moduli

(b) Less than the quotient of their moduli

('c,) Less than or equal to the quotient of

their moduli

(d) Equal to the quotient of their moduli

Let z = x + iy where X, y are real variables
and i=v-1.1f|22-1|=|z—-21, then
the point z describes :
(a) A circle

(b) An ellipse

(c) A hyperbola

(d) A parabola

(Contd.)
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A @it & oy @ wf Amie @
Ry X 2 X H dawd x, y Gt we
I AR IFE g T osax S B
Prefefas & § S w w@ & 7
(a) T Woy, X W F e "y 2|
(b) Uz Gy wwiE 2 BFg 7 @ WY
g 3t 7 & gFwE B -
(c) Us d¥ew w@gey & feg 7 W wHbW
2 7 & wEEE 1.
(d) SHw ¥ & # 7AE
A% B¥ fPraffas ol w Rem
e, @8 A= {u, v, w, x, y, 2} 3X
B={p, q,r, s}
{(w p), (v,.p) W p), (x, Q) (v, @, (z @}

1.
- 2. {(u, p)s (V: q)s (W, I'), (Z: S)}
3.

{(w, s), ¥, 1), (W, @), (u, p), (v, @), (z, )}
4. {{u,q), (v, p)(ws), x1), 9, (2 8)}

I9gE A ¥ AR Gy wAaT A8 7
(@) 1¥R2

(b) 13T 4
(¢) 283
d) 334

gfe FiFT ax? + bx +¢ =0, @l a = 0,
YT o AP E, T (ax + b) (af + b)
s qea 8 2

(a) ab

(b) be

(c) ca

(d) abc

ma difwe S, o qufe & e W

ofed Fa@ 81 S 9 €Y R ‘aRb, T

ab> 0,8 a,be 8, &1 § wRwilta

2 @ RAw B 7

(a) T&ged f&g 7 @ wHikg A A B/
REILEINCER)

) wged, 9ai wea g e el

() To¥ Had
(d) waftm g 7 o wgen R A &
HHHS Y
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s El 2a¢ —2abx + B =0, 9§ a < 0 AT

b>0F Ao fow yp & € 7

() P e wfEs

(b) ¥eg mfAm
(c) Wi wHAM
(d) ®3T s

A FERN (11110), AT (1010), H1 FTTHe
fFam 2 ? L
(a) (101000),

" (b) (110000),

(€) (100100),
(@) (101100),

7 @R N, o = T gwelt &
§I=2g H difod wxar g AT Z, @l
quel F w=ad F doa F@ B
fx)=1x| ¥ R T % £:Z > N
8 7

" (a) T e aTeeTed Al

(b) I=OTEH fh=g THE L
(c) e M I=SEF QT
(d T @ WF M A & IEORS

R PR Q< witwy gamd &, o PR
Q# Rvm % wmiw BT & 7
() ST " B Rwm ¥ A
(b) 37F AU & R ¥ +4

(¢) I°% AR F Bwm § W W ITD
EEICEY :

(d) 3% AE ® BT ® awE

A AT z = x + iy, 81 X, y A&EGF =
TR i=J-11 3R |22z-1|=]z-2]
g g zww s B 7

(@) 9

(b) dregm

(c) afauae

(@) AT
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10. The sum of an infinite GP is x and the

©

11.

12.

13.

common ratio r is such that {r | < 1, If
the first term of the GP is 2, then which
one of the following is correct ?

@ -1<x<1
(b)) —w<x<1
l<x<w

None of the above

(d)

A box contains 3 white and 2 black balls.
Two balls are drawn at random one after
the other. If the balls are not replaced,
what is the probability that both the balls

- are black ?

2/5

1/5

1/10

None of the above

(a)
)
©)
(d)

For two variables x and y, the two
regression coefficients are b, =-3/2 and
b, = -1/6. The correlation coefficient
between x and vy is :

(a) —1/4
(b) 1/4

(c) -1/2
@ 12

The variance of numbers X5 X, X

g3 My e -

is V. Consider the followmg statements :

1. If every x, is increased by 2, the
variance of the new set of numbers
is V.

2. If the numbers x, is squared, the
variance of the new set is V2

Which of the following statements is/are
correct ?

(a) 1 only

(b) 2 only

(c¢) Both 1 and 2
(d) Neither 1 nor 2

*

14.

15.

16.

17.

18.
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What is the mean of the squares of the
first 20 natural numbers 7

() 151.5 e

(by 143.5

() 65

@ 72

P, 4, I, S, t are five numbers such that the
average of p, q and r is 5 and that of s
and t is 10. What is the average of all the
five numbers ? '

(a) 7.75
) 7.5
{c) 7

{d) 5

The cumulative frequency of the largest
observed value must always be :

(a) Less than the total number of
observations

Greater than the total number of
observations

Equal to total number of observations

Equal to mid point of the last class
interval

(b)

(c)
(d)

It has been found that if A and B play a
game 12 times, A wins 6 times, B wins
4 times and they draw twice. A and B
take part in a series of 3 games. The
probability that they win alternately, is :

(a) 5/12
(b) 5/36
() 19/27
d) 5127

Out of 7 consonants and 4 vowels, words
are to be formed by involving 3 consonants
and 2 vowels. The number of such words
formed is :

(a) 25200
(b) 22500
(c) 10080
(d) 5040
{Contd.)



10.

11.

12.

13,

- (3

TH FFq GP @7 amed x & Y e
T rUE 8 W [r| <18 wld GP
&1 U g% 2 8, 9 Pr=fafea § § =
TF WE O 7

(@) -1 <x<1

b)) —wo<x<1

() 1 <x<w

(d) = ¥ ¥ A AL

T TR H 3E%g MT2FE N T QA
IS TF B W% TH e
SR # 1 afy WY A g s A A€ gwn
o, @ QA WS D FE SR S Wi
w2 ?

(a) 2/5.

(b 1/5

© V10

() SvF § § = 7

AT x ARy D RA, D wEEE Qi
b, =-323b =-1/6% xMyH
&9 gedsg TUnE @ 7

~1/4

1/4

-172

12

(b)
©
(d)

xl’ xz, xj!

wgE1 o fage iy
1. #R wAF x A 2% ¥, A AW
geml ® ggTad H T V 2|
2. AR w@wt x F oA FT Y, @ A
T=ag T V28|
freafafea swAl § @ SFE/A 86 8/
g7
(a) dad 1
(b) HaT 2
(¢) 13N 23T
(d Ta@1,7 82

..... xnﬂ'@nﬁ T GG VB |

*Lh

14.

15.

16.

17.

18.
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que 20 gl demel & aut w1 A w
g ? : '

(a) 151.5

(b) 1435

(c) 65.

@ 72

gt §@md p, g, 1, s, t3 T YRR & p,
q @ SEd 58, AT s Tt H Ea
1021 ot o=l dens) &1 Agqa 78 7

@) 7.75
) 7.5
(c) 7
(d) 5

gee Ife W A Hell SERdG §e9
Fa BT WY ?
(a) YO F H[@ dEA ¥ A

- (b) JeN I FE T@m { IS

(c) JeAo F A FE ® AW
(d) ofom @it siqae & Aeldg & FOeT

IR AR B @0 12 T T §, @
o5 T oer & fF A, 6 9K aa 2, B,
49T daer & AR 3 D s il wd
g1 AR B, 3 @A # Heen F fewn ad
) 399 ard-srd ¥ e @ e
FoT & 7
(@) 5/12
(b) 5/36
(c) 19727
(d) 527
7 @9 R 4w § F, 3 @ @R
2 &t & AT e §9 R 21 56 UEIY
¥4 Tl W gEm ¥ 7 '
(a) 25200
(b) 22500
(c) 10080
@) 5040
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19. Let X denote the number of scores which

20.

21,

22.

exceed 4 in 18 tosses of a symmetrical
die. Consider the following statements :
1. The arithmetic mean of X is 6.

2. The standard deviation of X is 2.

Which of the above statements is/are
correct 7

(a) 1 only
(b) 2 only
(¢} Both 1 and 2

(d) Neither 1 nor 2

How many different words can be formed -

by taking four letters out of the letters of
the word ‘AGAIN’ if each word has to
start with A ?

(a) 6 ,

(b) 12

(c) 24

(d) None of the above

The sum of the series formed by the

sequence 3, .f3, 1 upto infinity is :

......

@ H3OB+H (‘2/?_’ *h)
) 343 («2/3 ~1)
3(3+1)

2
3(J3-1)
2

(c)

(d)

If |z+Z|=|z~-Z|, then the locus of z s :
(a) A pair of straight lines

(b) A line

(¢) A set of four straight lines

(d) A circle '

*

23.

24,

25.

26.
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The number 251 in decimal system is
expressed in binary system by :

(@ 11110111 '

(b) 11111011 A

() 11111101 ‘

(d) 11111110

What is the argument of the 6omplex
number M@tﬂ where j=+/-1 7

3-i
{a) 0

L
®) 7

m
(c) 7
T

@ 3

Consider the following statements in respect

61 2
of the matrix A=| -1 0 -3
-2 3 0

1. The matrix A is skew-symmetric.
2. The matrix A is symmetric.
3. The matrix A is invertible,

Which of the above statements is/are
correct 7

(@) 1 only
(b) 3 only
(c) 1and 3
(d 2and3

1
Consider two matrices A=| 2 and
1

— B

1 2 -4 | :
B= 2 1 4| Which one of the

following is correct ?
(2) B is the right inverse of A
(b) B is the left inverse of A
(c) B is the both sided inverse of A
(d) None of the above
(Contd.)



19. A7 @¥Y w @At T W 18 Il

20.

21.

- ()

22,
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fga w81 Freaffen Fai ) RER
CHIE L

1. X F §HiGT HIET 6 |

2. X &1 AFs fauem 2 2

SHfe wol ® #Ae/d w38 7
(a) dad 1

(b) @I 2

(¢) 13N 2

(d T A1, T2

ME AGAIN & & ® & 4 31&¢
fra fafe mse &g 1 HEd €,
TAF TR AT URY B 7

(a) 6

b 12

(c) 24

(d) s ¥ & F§ A

RETd
Tfe

@) 3J§(\2/§+1)

33 (/3 -1)

(b) 7

3 )

@ 3(J§-1)

R |z+2Z|= |z- z| @ zwﬁ—gww
g7
(a) 9% Y@ & g

(b))

(c) I XA @t F g
(d) 3%

*~]

23.

24.

25.
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Tada g A gen 251, femard v
7 #3 sl @t & 7
(a) 11110111

(b) 11111011
(¢) 11111101

~(d) 11111110

wftAy @ ——-—(1“)(2“) wE i=+—1,

maﬁmﬁ?w%?
(@ 0
T
(b) 2
' T
O Ny
T
@ 3
01 2 .
sy A=l -1 0 -3}% gad A
-2 3 0

Preafafee o RBEr S
1. g A faom-gafia @

2 ATegE A FART # |

26.

3. s A oA #)
I FE A A/ w8/ ¢

(a)%‘dﬁl
(b) T 3
(c) 133
(d) 23
1
U R A=| 2 SHEy
1
a1 2 -4
1, 1 4| T framr =1faa
Preafifeg & @ F9@ @ @@ 8 7
(a) A 7 fEwT gRER B8
(b) A® AW g B2

(c) A& QAT well 1 wigew B8
(@ v ¥ & #E AE

[ ]
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~ 27. One of the roots of
Xx+a b c
a x+b ¢ |[=01is:
a b  x+c¢

(a) abc '
(b) a+b+c¢
(¢} (a+b+c)
(d) —abc

28. If Ais any matrix, then the product AA is
defined only when A is a matrix of order
m X n where :
(8 m>n
(b) m<n
(c) m=n
(d) m<n

29. The determinant of an odd order skew
symmetric matrix is always :
(a) Zero
(b) One
(c) Negative
(d) Depends on the matrix

30. If any two adjacent rows or columns of a

determinant are interchanged in position,
the value of the determinant :

(a) Becomes zero

(b) Remains the same

(c) Changes its sign

(d) Is doubled

For the next three (03) items that follow :
In a survey of 25 students, it was found that
- 15 had taken Mathematics, 12 had taken Physics
and 11 had taken Chemistry, 5 had taken
Mathematics and Chemistry, 9 had taken
Mathematics and Physics, 4 had taken Physics
and Chemistry and 3 had taken all the three
subjects.
"31. The number of students who had taken
only Physics is :
(a) 2
() 3
(¢) 5
@ 6

Co32.

33.

* OO
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The number of students who had taken
only two subjects is :

(&) 7
(b) 8
() 9
(d) 10

Consider the following'statements :

1. The number of students who had
taken only one subject is equal to
the number of students who had taken
only two subjects.

2.  The number of students who had
taken at least two subjects is four
times the number of students who
had taken all the three subjects.

Which of the above statements is/are
correct 7

(a) 1 only

® 2only
(c) Both 1 and 2
(d) Neither 1 nor 2

For the next three (03) items that follow :

I n
In the expansion of (X3 ——2) where n is a
. X

positive integer, the sum of the coefficients of
x* and x'%is Q.
34. What is n equal to ?

@ 5

(b) 10

{c) 15

(d) None of the above

35. What is the value of the independent term ?
{a) 5005 :
(by 7200

(c) -5005

(d) —7200
{Contd.)



- 28

f
x+a b ¢

a X+b ¢ [=0

a b x+c¢
F @l ¥ ¥ T A R 7
(a) abc

(b) a+b+c

© -@a+b+c)

(d) —abc

R AP IegE B, O rETEA AA wRoRE
2 daq ol safF AR m x n 1 FYE
B wEl

() m>n_

(b) m<n

(c) m=n
(d) m<n

- 27,

29. T
mtﬁlﬁiﬁawim%?
(@ I
(b) T
(c) AT
(d) smege W i 2

OF IO F HIE R NEAA diEay
mﬁﬁﬁuﬁﬁﬁﬁmmﬁmm
aRitE w7 A
(a)x{r&rﬁm%

(b). T T e @

(c) 39T fo5 a1 B

(d) T & S @

FO A arY W (03) weRiE #
25 Rl & wdeor ¥ umn
Tt & 8, 127 e off @ ik
faw R 2, 57 nfm ok

30.

EIJEI

ﬁmaﬁﬁ:’ﬁmwﬁamm

*N\O
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32. 99 Renfat &) deq = g, BeRiR dad
o foog g 8 7
(@ .7
(b) -8
{c) 9
(@ 10

33.

H@T%W%ﬁﬁ?ﬁfﬁa‘rﬁw
frg 2
2. 37 ffft % wen, Rl wW R
- w9 Q fww forg €, 99 Ry #
Wﬁwﬁ%ﬁr@ﬁmﬁﬁ
faemr g 21

IgT woAl § RAE/E wE 2/E 7
(a) ®3d 1

(b) @ 2

(¢) 13T 2 <

(d) T a1,7 &2

A W T AT (03) e @ forg .

(x3—;1-5] , W8l n g7 UiE 8, F fmn A
XS AT X0 TEIH AW 0 2
34, nfres qew 2 7

@ 5

(b) 10

{c) 135

(@ Sww ¥ ¥+ 79

wdy 9g H R R OB 7
() 5005 |

(b) 7200

(c) -5005

(d) —7200

35.
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36.

What is the sum of the coefficients of the
two middle terms ?

(@ O

(b) 1

© -1

(d) None of the above

For the next three (03) items that follow ;
Given that C(n, 1) : C(n, r + 1) =1 : 2 and
Cn,r+1):Cn,r+2)=2:3,

37.

38.

39.

40.

What is n equal to ?
(a) 11
b) 12
) 13
(d) 14

What is r equal to ?.
(@) 2
(b 3
(c) 4
d 5

What is P(n, f) : C(n, 1) equal to ?
(a) 6

(b) 24

(c) 120

(@ 720

The complete solution of 3 tan’x = 1 is

.given by :

s
X=nmt—
@ 3

s
(b) x=nn+§ only

T
X=nnt—
() x=nmi

(d x= Il‘.lt-l--;£ only

where n € Z

4].

42,

43,
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What is the value of cos 36° ?

@ B

J§+1

(b)

(d)

Consider the following statements :

1. Value of sin 0 oscillates between —1
and 1. ‘

2. Value of cos 0 oscillates between 0
and 1.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

{c) Both 1 and 2
(d) Neither 1 nor 2

If x and y are positive and xy > 1, then
what is tan™' x + tan™ y equal to ?

(@) tan”! (—-—“ y]

1—xy
(b) n+tan”) [{(—_%J
ey
@ (1%’;)

(Contd.}



36. q AW F O oqn w@m g

(@ 0
® 1
(¢) -1
(d) S« § § g TH

I I A A (03) weArAy & f .

ffm 2 & C,D:Cn,r+1)=1
Cn,r+1):Cln,r+2)=2:3.
37. nfoud gea 2 7

@) 11

(b) 12

(c) 13

@ 14

E i C O
(a) 2
(b 3
(c) 4
(d) 5

38.

39. P(n, 1) : Cn, r) Fe® qew 8 7

(a) 6

(b) 24
(c) 120
(d) 720

40, 3tan2x=1$l‘];“f$?‘rw%?

T -
=nnt—
(@ x=nmt-
(b) Haa x=m:+§
n
X=nrx+t-—
(c) P

(d) Fad x=n1r+%;-

B neZ

$ 2 A

4].
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cos 36° 1 W ¥ T 7

@ 454—1 |

V5 +1

4

J10+245

4

Ji0-2v5

4

(b)

(c)

(d)

Fefafea st ) e i .
. sin®@®F A1 13T 15 &9 &
AT w8

2. cosOFAF 0AR 1 & fim H qaA

FAT 2
Sofer wol ¥ AEA W A 7
() Fae 1
(b) Faa 2
() 13T 2
(@ 71, T &2

R x My TS B Sﬁtxy?la‘f
tan” x + tan”! y fHEd gew 2 7

(2) tan” G‘f’;’;]
d,) m+tan" (Tx_—%)
o w(5)

(Contd.)



44,

45,

46.

Consider the followin_g statements :

Lo 19 2,19 .
l. n|sin®“67— -sin22— |>1 for
2 2
all positive integers n > 2.
2. Ifxis any positive real number, then
nx > 1 for all positive integers n > 2.

Which of the above statements is/are

correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements :

1. If 36 is an acute angle such that
sin 30 = cos 20, then the measurement

of 0 in radian equals to %

2, One radian is the angle subtended at
the centre of a circle by an arc of the
same circle whose length is equal to
the diameter of that circle.

Which of the above statements is/are
correct 7

(a) 1 only

(b) 2 only

(¢) Both I and 2
(d) Neither 1 nor 2

From an aeroplane above a straight road
the angles of depression of two positions
at a distance 20 m apart on the road are
observed to be 30° and 45°. The height of
the aeroplane above the ground is :

(@ 1043 m
(®) 10G3-1) m

(€) 10(/3+1) m
(d) 20 m

47.

48.

49,

50.

IV. CAREERINDIA

Consider the following statements :

1. There exists no triangle ABC for
which sin A + sin B = sin C.

2. If the angles of a triangle are in' the
ratio 1 : 2 : 3, then its sides will be
in the ratio 1:+/3 : 2.

Which of the.above statements is/are
correct 7

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements :

1. " sin| x|+ cos| x| is always positive.
2. sin{x?) + cos(x?) is always positive.
Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

l+sinA 1-sinA
1-sinA l+sinA
(a) sec A—tan A

(b) 2sec A.tan A

(c) 4sec A.tan A

(d) 4 cosec A.cot A

What is equal to ?7

cot 224° —cot 134°
cot 226° + cot 316°
(a) —cosec 88°
(b) —cosec 2°
{c) —cosec 44°

What is equal to ?

(d) —cosec 46°

{Contd.)



44,

‘ . |
L n(sin2 67% —sin? 22

45.

46.

freafefaa o W A Al -
_1_0]>1, gy
2

g7 gl n223 Rl
2. ue x PR aenT qlRE qEw g,
@ o gARTE el n22 % fw

nx> 11 .
I o F FAE/A @@ 28 7
(a) #ad 1
(b) da@ 2
(¢) 13 2 QA
(d 7 @1, T 82

AF -~ B IOET 2

g et 9T @
% WX IN . JA P W F A
I TN I faiid BET B
IEF FuAT H /A w38 7
(@) ®ad 1
(b) F¥aT 2
(c) 13T 2 QY.
d 7 @1, T a2
w it 95F P FW TF EATE B &
S ®SE W 20 m YR R wWEI B
FETHT R 30° MR 45° IR fFg Im
g s & IR TR B & HEs 1
27
(a) 1043 m
(®) 10(3-1) m
(©) 103+ m
(d) 20 m

47.

48.

49,

50.

IV. CAREERINDIA

Freafafte st = e AR -

1. W@ @ B ABC 1 afoea 7d
BT fed f¥ sinA+sinB=sinC
B

2. uR Rt B 3 ®w 1:2:3
ajmﬁﬁ%ﬁwaﬁgmqlfz
F yqom ¥ Bl

aﬂﬁmﬁaﬁam/%a‘é’r%/%?

(a) F9d 1

(b) ®Fad 2

(c) 13T 2 =

(d T A1, T2

Preaffm sl T R AR

1. sin|x|+cos|x|493d GIEHF BT
Bl

2. sin(x?) + cos(x?) 93 UARH® Bl
g

IwF FuAl W owa/y @l 38 7

(a) Fad 1

(b) Fa@ 2

(c) 13T 24"

(d Ad@L, 7 &2

l+sinA 1l-sinA
I-sinA 1+sinA
(a). sec A—tan A
(b) 2secA.tan A
(¢) 4secA.tan A
(d) 4 cosec A . cot A

fre w8 7

cot 224° — cot 134°
cot 226° +cot 316°
(a) —cosec 88°

B qea 2 7

. (b} —cosec 2°

{c) -—cosec 44°
(d) —cosec 46°
(Contd.)



51

52.

53.

54.

. 55.

Consider the following statements :

1. tan 1 + tan™ (0.5) = n/2

2. sin (1/3) + cos! (1/3) = n/2
Which of the above statements is/are
correct 7

(a) 1 only

(b) 2 only

(¢} Both 1 and 2

(d) Neither 1 nor 2

If A+ B + C = xn, then what is
cos(A + B) + cos C equal to ?

(@ 0

(b) 2 cos C

(¢) cos C ~sin C

(d) 2sinC

What is cos 20° + cos 100° + cos 140°
equal to ?

(a) 2

(b) 1

() 1/2

(d) 0

L In
What is sin™! sin —

5 equal to ?

ad

s

(a)

B
27
b) -+
I
© 3
(d) None of the above
What is sin’(3m) + cos’(4m) + tan?(Sm)
equal to ?
(a) 0

. () 1

{c) 2
(dy 3

" 60.

56.

57.

58.

39.

IV. CAREERINDIA

Consider the follbwing point’é D

1. (0, 5)
2. (2,-1)
3. (3, -4)

Which of the above lie on the line Ix+y=5
and at a distance /]¢ from (1, 2) ?
(@) 1 only '

(b) 2 only

(¢) 1 and 2 only

(d) 1,2 and 3

What is the equation of the line through
(1, 2) so that the segment of the line
intercepted between the axes is bisected
at this point ?

@ 2x-y=4
(b) 2x-y+4=0
(© 2x+y=4

@ 2x+y+4=0

What is the equation of straight line passing
through the point (4, 3) and making equal
intercepts on the coordinate axes ?

(&) x+ty=7

(b) Ix+4y=7

{e) x=y=1

(d) None of the above

What is the equation of the line midway
between the lines 3x — 4y + 12 = 0 and
IXx-4y=67

(a) Ix-4y-9=90

(b) 3x -4y +9=0

(€) 3x-4y-3=0

(d 3x-4y+3=0

What is the sum of the major and minor
axes of the ellipse whose eccentricity
is 4/5 and length of latus rectum is
14.4 unit ?

(a) 32 unit
(b) 48 unit
(c) 64 unit
(d} None of the above

(Contd.)



51.

52,

53.

54.

5_5'.

Preafafas ot R AR
1. tan? 1 + tan™ (0.5) = 72

2. sin? (1/3) + cos™ (1/3) = n/2
JF FuEl § dAE/A 6@ 22 7
(a) dFa 1

(b) Faa 2

(c) 13X 2

@ Fa@l T2

e A+ B+ C=mn,a cos(A+B)+cosC

foed @ 2 7

(a) 0

(by 2cosC

() cos C—sinC

(d 2sinC

;ds 20° + cos 100° + cos 140° fea geu
?

(a) 2

(b) "1

© 12

d 0

in
sin™! sin 5 iCascn L5 2 ?

(d) Iew & ¥ FF &

sin¥(3n) + cos*(4m) + tan¥(Sn) fFed g
g7

(@ 0

(®) 1

(¢) 2
@ 3

56.

57.

38.

59.

&g (1,2) ¥ oA 9wl ‘Zfeﬁ

)

IV. CAREERINDIA

frefofte figel w e AR .

1. (0, 3)

2. (2,-1)

3. (3,-4)

e # F /A, W@ X +y=5T
M A,DT o Tl W R 7
(a) ®ad 1

(b) Haa 2

(c) Had 13T 2

(d 1,2 T3

7,
kil

?

et el # i FeA awn @
fig w Rl &), e =
(@) 2x ~y=4

(b) 2x—y+4=0

() 2x+y=4

(d 2x+y+4=0

g (4,3) & o A X frduwe el
W AT TS AT RN @ H TR
T g 7 -

(@ x+y=7

(b) 3x +dy =7

() x-y=1

(d) S ¥ § A 7

3x — 4y + 12 = 0 3 3x — 4y = 6 (@A
& Wy W O W FHSCOT Fw g 7
(@ 3x-4y-9=20

) 3x-4y+9=0

(¢) 3x~-4y-3=0

(d 3x-4y+3=0

g @1, R s 4/5 3 AR
TivEa N A 14.4 R 2, 9 9
ag s w oA oww g7

(a) 32 T

(b) 48 TFE

(c) 64 TFE

(d Sofw ¥ ¥+ T

gl
wg
12
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For the next three (03) items that follow :
A straight line passes through (1, -2, 3) and
perpendicular to the plane 2x + 3y -z = 7.

61. What are the direction ratios of normal
to plane ?

(@) <2,3,-1>

(b) <2,3,1>

() <-1,2,3>

(d) None of the above

62. Where does the line meet the plane ?

(@ 2,3, -1
b (1,2, 3)
©) 2, 43)
d G, 1,2

What is the image of the point (1, -2, 3)
in the plane ?

(@ (2,-1,5)

(b (-1,2,-3)

©) 5.4 1)

(d) None of the above

63.

For the next two (02) items that follow :
Consider the spheres x* + y? + 22 — 4y + 3 = 0
and X2 + y* + 22+ 2x + 4z — 4 = 0.
64. What is the distance between the centres
of the two spheres ?
(a) 5 unit
(b) 4 unit
{c) 3 unit
(d) 2 unit

65. Consider the following statements :
1. The two spheres intersect each other.

2. The radius of first sphere is less than
that of second sphere.

Which of the above statements is/aré
correct 7

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

‘The vertices of a triangle ABC are A(2, 3, 1)

IV. CAREERINDIA

For the next three (03) items that follow :

B(-2, 2, 0) and C(0, 1, =1).
66. What is the cosine of angle ABC ?

|
@ 5
1

® 75

2
© T

(d) None of the above

What is the area of the triangle ?
(@) 6.2 square unit
(b} 342 square unit

(¢) 1043 square unit
(d) None of the above

67.

68. What is the magnitude of the line joining

mid points of the sides AC and BC ?
R
(a) 2 unit
(b) 1 unit '
3
{c) N5 unit
(d) 2 unit

For the next two (02) items that follow :

.Consider the vectors F=i-2j+k and

b=4i-4j+7k.
69. \_r_Vhat is the scalar projection of @ on
b?
(@ 1
(b) 19/9
() 17/9
(dy 23/9
(Contd.)



AW FA I B (03) wEim * T
TH FL @ (1, -2, 3) @ IR B oo e
2x+3y—z=79C #@ B |
61. A W el F Rw-sow a7 § 7
(@ <2,3,-1>
®) <2,3,1>
(©) <-1,2,3>
(d) s ¥ ¥ ;A8

62. @1 UMAW YT e Ao B 7
(@ (2,3,-1
(®) (1,2, 3)
(©) 2, 1,3)
d G, 1,2

i (1, -2, 3) 1 Fwae # wlalds wwm g ?
@ 2, -1,5)

() (-1, 2, =3)

© (5,4, 1)

(d) S X A FE A

AN I AT A (02) T * g .
X+y +2—4y+3=03
X2+y2+z2+2x +4z -4 =0Tt W R
Fi | |
64. TR WA P B F dw gH FM R ?

(@ 5 rd

(b) 4 @3

(c) 3 T3

(d) 2=

65. Trefofas sua) 9t faa il .
1. 9] 7 9TEuT WIed g |

2. oA MA A B gEl W W B
¥ w9 2

Ioed woAT ¥ wrAE/R @d 38 7
(a) daa 1

(b) ¥ad 2

(©) 13 2Q=

(d I, TaH2

63.

IV. CAREERINDIA

I o g A (03) v F fg
Br{@ ABC & #fif A(2, 3, 1), B(=2, 2, 0) X
C@©, 1, -1) g1

66. FUT ABC #1 wival #9787

S|
(a)

(b)

S S B

(c)
(d) SH= ¥ & g T
B &1 &a%a 1 8 7
(@) 6y2 T TR
(®) 342 F T
(©) 1043 T T
(@ s & § AL 7

gl AC 9 BC % 7o Rigdh #1 drgd
areh Y@ F oo Fm g o7

67.

68.

(@) %ﬁﬁf
(b) 1518
© ‘353*1%
(@ 2R
N I AT qY (02) weErer & ferg .

AR F=1-2j+k I b=4i-4j+7k WRAR

T | .
69. & ® b X fRm A8y wr & 7

(@ 1

() 19/
) 179
(d) 23/9
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70. What is the vector perpendicular to both
the vectors ?

(a) -10i-3j+4k
(b) —10i+3j+4k

A{c) 10 -3j+ 4k
(d) None of the above

For the next two (02) items that follow :

Let a vector T make angles 60°, 30° with x
“and y-axes respectively.
71. What angle does T make with z-axis ?
(a) 30°
(b) 60°
(c) 90°
(d) 120°

72. What are the direction cosines of T ?

#5)
@ (377

143
) <5’-70>
1 .1
© ﬁ???@

For the next two {02) items that follow :
Let [d[=7, |b|=11, |d+b|=10+3
73. What is |F-b| equal to ?

@ 22

(b) 2v10
© 3
@ 10

74.

75.

76.

77.

IV. CAREERINDIA

What is the angle between (3+b) and
@-b) ? |

o A,

(a)

(b)

w|a

(©)

(d). None of the above

‘o

A line passes through the points (6, -7, ~1)
and (2, -3, 1). What are the direction ratios
of the line ?

(a) < 4, _4_': 2>

®) <4,4,2>

(C) < _45 4y 2>

d <2,1,1>
L (14" -1 '

What is lim (+x -1 equal to ?
x>0 X

(a) 0

()

() n

() n-1

X
is lim —e———
What is o ‘[1'_—903—" equal to ?
@@ 2
b) -2

1
© I

(d) Limit does not exist

(Contd.)



70. 2 wRe W wRw W w2 7
(a) —10i—3j+4k
(b)) -10i+3j+4k
() 10i-3j+4k
(d) swfw & q HF T
AN JH T W (02) v F Fog

o A wRw F, x SR y-ael @ wAm

60°, 30° HIT AT 2 |
71. T, 2% @ A o0 aFw@r g 7
(a) 30°
(b) 60°
{c) 90°
(d) 120°

7. T A Re A ww ¥ 7

1 43
(a) —_ 2 ,0>
1 43
11
© <"5x5’°>

AN A/ JIE A (02) W P T e
BRI 18]=7, |b|=11, |3+b|=10V3
73. |i-b| Ed gow @ 7

@ 242

(b) 2410

© 5
@ 10

&AREEHINDIA

74. @+b) M E-b) d d= A w7

75.

T
@ 3

(®)

w3

T
() s
(d).wgaairﬁaﬁ%aﬁ

T @, (6,7, -1) 3% (2, -3, 1) Rgh 7
T B e & Re-aqua w7 o ?
@ <4,-4,2>

(b) <4,4,2>

() <-4,4,2>

@ <2, 1,1>

76.

77.

fras geu 2 7

lim A+x)" -1
x—0 X

(@ 0

) 1

(¢} n

(d n-1

B qeu 2 7

lim
x-»0

() 2
®) -2

1-cosx

1
© 77
(d) ¥ w1 Afea T8 8
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78.

79.

80.

81.

(b)

l+cosx

What is the derivative of ?

l-cosx
lsec —_
@ Fsec 5

1 2 X
= =—C0SeC” —
2 2

(b)

X
~cosec? =
2

(©)
(d)

None of the above
l em_lx dx

What is [~ cqual to ?
0 1+x

(@) ¢
e%+1
{c) e—1
@ e

What is the slope of the tangent to the
curve y = sin™ (sin? x) atx =0 ?

(@) 0

(b) 1

(c) 2

(d) None of the above

d
The solution of l=|xl is :
dx

@ y= e
2

w y=2le
2

2

X
c =—+c
(€} v )

3
(d) y=x?+c

where ¢ is an arbitrary constant

IV. CAREERINDIA

82. What is the solution of -31-5-2}1:1
X

satisfying y(0) = 0 ?

1—e 2%
a =
(@ vy >
2%
l+e
() y= 5
() y=1+¢e"
1+¢e¥
d =
@ vy 5

For the next two (02) items that follow :
Consider the curve y = e,
83. What is the slope of the tangent to the

curve at (0, 1) ?

(@ 0

() 1
(c) 2
@) 4

84. Where does the tangent to the curve at
(0, 1) meet the x-axis ?
. @ (1,0

® 2,0

() (-1/2,0)

@ (172, 0)

For the next two (02) items that follow :

2 2
1.+Y_.—1_

Consider an ellipse =
P 32 b2

85. What is the area of the greatest rectangle
that can be inscribed in the ellipse ?

(a) ab
(b) 2 ab
(c) ab/2

(d) ab

(Contd.)



79.

-80.

81.

l1+cosx

FT JTHS FT 8 7
1-cosx

2 X

: 1
(a) ESCC 5

L osec? X

(©) —-cosec2 X
2

(d) S ¥ ¥ FE T

| -1
J.eta.ﬂ X dx
2

0 1+x%

fFas qea 8 7

LS
(a) e*-1

.4
(b) e4 +1
(¢) e-1
d) e

x =0T T y=sin"! (sin? x) & T N
PELIED B

(@ 0

() 1

(©) 2

@ v ¥ K T

d
x| e owm R 7
dx

x|x|

X
=2Tlye
@ ¥y==3

®) y=Dlee
2.

2

X
=—+
) v S te

3 .
X
d =—+C
(d vy >

Wal cTF WS uT B

&AREEHINDIA

82. y(0)=0dge A gu W 4oy=1 7 &

dx
-
—2X
1-¢
(@ y= 3
2%
1+e
b =
(b) vy 5
© y=1+e
1+eX
« -
d) vy 5

FI X AT & (02) wrey ® faw .
TF y=e* W AR A ,
83. (0, 1) W o ® et ) gavEr F B 7
(@ 0 | |
(b) 1
(¢) 2
) 4

84. (0, 1) T % F Tl x-3& U Fal A
g7 '
(@ (1,0
(®) (2, 0)
(©) (172, 0)
(d) (172, 0)

s amy ar A (02) yenwr ¥ fw
2 2

defae %+Z—2=1 = REr
8s. dndga ¥ €Y o1 §FA A HETH 3q.Imad
F OAART FT 8 7
(a) ab
(b) 2 ab
(c) ab/2

4. Jab
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IV. CAREERINDIA

86. What is the area included between the  90. What is the value of ) if the function is .

ellipse and the greatest rectangle inscribed

1A
continuous at X=— 9

in the ellipse ? 2
(a) ab(n - 1) (a) 1/8

(b) 2ab(n - 1) . | (b) 1/4

(©) ab(x — 2) Eg }’2

(d) None of the above

. 91. If f(9) = 9 and f(9) = 4 then what is
For the next two (02) items that follow :

. . —
Consider the integrals lim9 \/\/(_}%5 33 el 1
X— —_
- .
I =3]‘___d.’.‘__ and | =]' Jsin x dx | : (Z) ;6 |
L 1++/tan x 2 Jsin x +/cos x (b) . | ’
§ 3 (c) 4

87. What is I, - 1, equal to ? (d) None of the above

(@ ¢

z
2
(®) 2, 92. What is jxsin xdx equal to ?
() n B
(d) None of the above | @ 0 2
88. What is I, equal to ? 83 32
(a) n/24 @ =
(b) n/18
©) w12 : 93. What is the general solution of the
differential equation x dy ~y dx = y2 ?
(d) n/6 | @ x = cy
For th items that follow : (0 ¥* = ex:
or the next two (02) items that follow : € Xx+xy-cy=0
. \ 1-sinx (d) None of the above
Consider the function f(x)= (- 2x) where ¢ is an arbitrary constant
: 1: 7|: ' - 94. Consider the following statements :
where X#— and f[5J=l 1. The function f(x)=3/x is continuous
‘ at all x except at x = 0.
. lim 2. The function f(x) = [x] is continuous
89. What is . fx) gqual to ? at x = 2.99 where [.] is the bracket
2 function.
@ 1 Which of the above statements is/are
correct 7
(by 12 (a) 1 only
(¢ 174 (b) 2 only
(d) 1/8 ‘ (¢) Both 1 and 2

(@) Neither 1 nor2 .
22 (Contd.)



86. g it defgw ¥ d T e daed
% fig Haldse &x fham 8 ?
(@) ab(m - 1) '
(b) 2ab(m - 1)
(c) ab(n - 2)
C(d) SWF ¥ q Wy Tl
FN FA AT & (02) yenw & fo
THEHA

+/sinx dx

Jsin x ++/cos X

88. 1

F AW AT (02) v # fog e
LT

1-sinx
f =
) (n - 2x)°

faame fomr
Jim f()ﬁw‘aﬁ?g‘q%?

x—)—
2

(a) 1
() 112
(c) 1/4
d 1/8

o L n
] Zarfl= =1 w
’ "2 f[ZJ

89.

90.

91.

92.

93,

&AREEHINDIA

e e, X=g‘T{ﬂ'T:‘IH%Eﬁ AT A
T 8 7

(a) 1/8

(b) 1/4

(¢) 172

@ 1

e f(9) =9 AXf(9) =4, li_rf Vi) -3

x—9 Vx -3
fres qew € 7
(a) 36
(b) 9
(c) 4
(@ o= ¥ ¥ F8 T .

xsinxdx &g geg 2 7

MR ey 02 [

(a) ©
(b) 2
(c) -2
(d) =

ahd FHW x dy ~y dx =

B oF 8 7

(@ x=cy

(b) y? =.cx

() x+xy—cy=

) :rcrgaﬁﬁaahs‘aé’f
Wel ¢ T Wwo IEL 8

y? 1 WUH

WWWWW

1. w1 fx)=vx,x =03 fEm wf
x 9T §ad B |

2. @oF f(x) = [x], x =2.99 WX €aq 2
gl [] Fied wEA B |

Isa FuAt ¥ w9 w88 7

(a) @3 1

(b) @ad 2

(¢) 13T 2 a1

(d T @1, T &2
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95. Consider the following statements :

1. The function f(x) = | x | is not
differentiable at x = 1,

2. The function f(x) = e* is differentiable
at x = 0, _

Which of the above statements is/are

correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

96. Ifz=fo f(x) where f(x) = x2, then what

. dz
18 &
@ x
(b) 2x°
(c) 4x*
C)

4x?
- For the next two (02) items that follow :

equal to ?

x2—x+1

,x2+x+1

Consider the function f(x)=

97. What is the maximum value of the function ?'

(@ 172
(b 173
© 2
@ 3

98. What is the minimum value of the function ?
(a) 172

by 173

(c) 2

@ 3

IV. CAREERINDIA

For the next three (03) items that follow :
Let f(x} be a function defined in 1 < x < o by
2-x forl<x<2

3x—k2 forx > 2.

f(x)-—-{

99. Consider the following statements :

1. The function is continuous at every
point in the interval [1, o).

2. The function is differentiable at x = 1.5.
Which of the above statements is/are
correct ?
(a) 1 only
(b) 2 only

(¢c) Both 1 and 2
(d) Neither | nor 2

100. What is the differentiable coefficient of
f(x)atx =37
(a) 1
(b 2
(c) -1
(d) -3

101. Consider the .following statements :
- 1. f(2 + 0) does not exist.
2. (2 - 0) does not exist.

Which of the above statements isfare
cotrect 7

(@) 1 only

(b) 2 only

(¢) Both 1 and 2
{d) Neither 1 nor 2

iy

2
102, What is J' In(tan x)dx equal to ?
0
@) In2
(b) —In2
© 0 |
(d) None of the above

(Contd.)



95. frafafem wuff W R e .

. T f(x) =] x|, x=1W J@@aAg
T8 B ,

2. W f(x) = e, x = 0 T FIFAAY
21

STE Fo ¥ owA wd 8 ?

(a) ¥ 1

(by @I 2

(c) 1a 2]+

(d T @1, 782

96. U} z = f o f(x), &l f(x) = x2 @ g—f{—
e gow 2 7
(@ x°
(b) 2x3
(c) 4x°
(d) 4x?

I I AR A (02) wEIE F T

2
T f(x):"z"“rl R R #f
X“+x+]

97. el ®1 ABFAH WA I § 7
(@) 172
®) 173
(c) 2
@ 3

98. ®AH W gAGH AH FT B 7
(@ 172
() 1/3

{c) 2
(d) 3

IV. CAREERINDIA

A AW W (03) wewr ¥ fam .
AT MY 1< x <0 ¥ BT f(x) I WER
it 8 % .

f(x):{zFX ) lx<23 i@

x>2 & o

99. Preafafas woaf w fE #ifm .
1. e, a0 [1, o) ¥ yeuw g o
qaa 21
2. WA, x= 15T IaEAAT B
Iuge FoAt ¥ wAgya @l 28 7
(@ a7 1
(b) Faw 2 -
(c) 13T 23
(d T, T2

3x-x

100. f{x) FT x =3 T FaFAAET NS 71 2 ?
() 1
() 2
(c) -1
@ -3

101. Fr=fafaa womt @) fam il -
1. (2 +0)% sfaca 7 )
2, (2 - 0) % sRaca =& B
Iuged FaA ¥ dwR wd 8/8 7
(a) a9 ‘1
(b) a2
(c) 13X 2 At
() AL, T A2

TE

2
102 Iln(tan x)dx frgs gew 3 7
0

(a) In2

(b) -In2

(© 0

d) S ¥ ¥ N A

(Contd.)



For the next three (03) items that follow :
The general solution of the differential equation
(x2+x+ DAy + (¥ +y+ Ddx =0 is
(x+y+1)=A(l + Bx + Cy + Dxy) where B,
C and D are constants and A is parameter.
103. What is B equal to ?

(@ -1

(b 1

(c) 2

(d) None of the above

104. What is C equal to ?
(@ 1
(b) -1
(¢) 2
{d) None of the above

105. What is D equal to ?
(a) -1
(b) 1
() 2
(d) None of the above

106. Consider the following statements :

1. The function f(x) = sin x decreases
on the interval (0, n/2).

2. The function f(x) = cos x increases
on the interval (0, n/2).

Which of the above statements is/are

correct ?

(a) I only

(b) 2 only

(c) Both 1 and 2

{(d) Neither 1 nor 2

107. What is the number of arbitrary constants
in the particular solution of dxfferentlal
. equation of third order ?

(@ 0
() 1
(c) 2
d 3

108. What is the equation of a curve passing
through (0, 1) and whose differential
equation is given by dy = y tan x dx ?
(a) y=-cosx

- . () y=sinx
(c) y=secx
(d) y = cosec x

IV. CAREERINDIA

109. Consider the following statcmehts in
respect of the differential .equation

2 .

d y+cos(dy] 0:

dx?2 dx

1. The degree of the differential equation
is not defined. .

2. The order of the differential equation
is 2.

Which of the above statements is/are

correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor2 - .

110. What is the equation of parabola whose

vertex is at (0, 0) and focus is at (0, -2) ?

(a y+8 =20
b) y»-8=0
) xX2+8y=0"
@ x*-8y=0

For the next four (04) items that follow :
Number X is randomly selected from the set
of odd numbers and Y is randomly selected
from the set of even numbers of the set
{1,2,3,4,5,6,7}. Let Z=(X +Y).
111, What is P(Z = 5) equal to ?

(a) 1/2

by 1/3

(c) 1/4

(&) 1/6

112.'What is P(Z = 10) equal to ?
(a 0
b 172
(c) 173
(d 1/5

113. What is P(Z > 11) equal to ?
(a) 0
by 1/4
(c) 1/6
(d)y 1/12
(Contd.)



AN AW A DT (03) weEiEt & forg
Fper TR (2 + x + Dy + (¥ +y + Ddx =0
BT AR BT (x +y+ 1)=A(l + Bx + Cy + Dxy)
g 98 B,C IR DX & fATHA 2|
103, B fed geu & ?

(a) -1

(b) 1

(c) 2
@) sufw ¥ & & =&
104.C Pred qew 3 7

(a) 1
(b) -1

©) 2 -
(d) IgF # ¥ F AL
105.D fred qew & 7
(a) -1
(b) 1

() -2
(d)wﬁaﬁﬁﬁﬁ%ﬁ

- 106, Frefafem wuat 9T Re IR .

1. ®eT f(x ‘“smx,m(() n/2) I

, AT 2 |

2.
g

mﬁwaﬁﬁﬁwﬁﬂﬁ%‘/@ ?

(a) Fad 1

(b) ®Had 2

(¢) 13 2 ¥

(d T @1, T E2

107. G0 #ife & sawas gHwwr 3 fagw
T A W8 =l P odEn ¥ o8 7
(a) 0
(b) 1
(c) 2
@ 3

108(0 1) & [OA A 9F F GHHO Rt
ga}m’—rvﬂﬁmdy y tan x dx &, ¥
(@) y=cosx
(b) vy =sinx
(¢) y=secx
(d) y = cosec x

FT f(x) = cos x, FAT (0, n/2) TX
gAT B

IV. CAREERINDIA

109. F@FAT gHIHTOT

2

d—hcos(d ] 0% s ¥ Prevhm
dx? d

F9A] W famr Hifvg .

1. gwmﬂma%‘aﬁmﬁwﬁa
|

2. ¥aHAq GHEIO o 2 #y
;T@a?r Al # FF@/} w8/
F 7

(2) #aq 1

(b) Fad 2

@ 13 285

(d T @1, T &2

110. (0, 0) wT ¥ &R (0, -2)141: CUC I
TEAT Eu i
(a)
(&)
(©)
(d)

y+8x=0
y:—8x =0
xX+8y=0
x2 -8y =10

R Qg g—— A

Hg—nm{1234567}%ﬁ1smv@r3ﬁ%

Wﬁ%mﬁm Tﬂﬂ%‘ﬂwxaﬁ?w

I T Hem
Y2 7T Z—(X+Y)|

111. P(Z = 5) e qew % ?
(@) 172 '
) 173

(c) 1/4
(d 1/6

112.P(Z = 10) s qea 8 7
(@) 0
() 172
(c) 173
(d) 1/5

3. P(Z > 11) fres geu & 7
(a) 0
(b) 1/4
(c) /6
@ 112
(Contd.)



114. What is P(Z is the product of two prime
numbers) equal to-?

() 0
“(b) 12
(c} 1/4
(d) None of the above

For the next three (03) items that follow :
The number of telephone calls received in 245
successive one minute intervals at an exchange

is given below in the following frequency
distribution.

Number of
calls 0{1(21314|5|6]|7
Frequency [14]21|25]43|51{40]39|12

115. What is the mean of the distribution ?
(a) 3.76
(b) 3.84
(c) 3.96
(d) 4.05

116. What is the median of the distribution ?
(a) 3.5
(b) 4
(c) 4.5
) 5

117. What is the mode of the distribution ?
(@) 3 )
(b) 4
(¢) 5
(d) 6

IV. CAREERINDIA

For the next three (03) items that foliow :

The mean and standard deviation qf 100 items -
are 50, 5 and that of 150 items are 40, 6
respectively.

118. What is the combined mean of ail
250 items ?

(a) 43
(b) 44
(c) 45
(d) 46

119. What is the combined standard deviation
of all 250 items ?

(@ 7.1
(by 7.3
(¢) 7.5
(dy 7.7

120. What is the variance of all the 250 items ?
(a) 50.6
(b) 53.3
(c) .55.6
(d) 59.3



114. P(Z Q. sy dema) &1 HEwa 8) frad
a7
(a 0
(b) 172
) /4
@) SEw ¥ ¥ A A

AN F Frer A= (03) weAimt ¥ forg

Y aRaRar §TA ¥ UF eSS U 245

FATE T T sgae ¥ e 2HwmT st
i gew & e 2 .

FIAT I ,
w=T 0|1|12(3|4(516/(7
STLETET 14{21{25(43)51140|39]|12

115. 929 &0 ayey @41 g 7
(a) 3.76 .
(b) 3.84
(c) 3.96
(d) 4.05

116. 23 = Aftasr w1 8 7 .
(@) 3.5
(b) 4
(c) 4.5
d) 5

117.5€9 #1 Sgas ¥ 8 ?
(a) 3
(b) 4
© 5
(d) 6.

IV. CAREERINDIA

FO A A A (03) wwwm * fow e
100 &} #1 Wew ;X 99 fF=em FAw 50, 5
ﬁ?lsoﬁwmwaﬂ'{mﬁﬁmm:

140, 6 81 :

18, 94 250 I YR W w8 7
(a) 43
(b) 44
(¢) 45
(d) 46

119. 7% 250 ®3 F1 €Y WF fQ=weT w7
g7,
(&) 7.1
() 7.3
)y 75
@) 77

120. %% 250 #dF &1 yEIwr F@y g 7
(@) 50.6
(b) 53.3
{c) 55.6
(d) 593
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SPACE FOR ROUGH WORK
T w1 ® By



IV' CAREERINDIA

SPACE FOR ROUGH WORK
F= w4 * o
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Note : English version of the instructions is printed on the front cover of this Booklet.



